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2R & ¢ 720008

10.00 m 2§ ¥ BififizR
(H) 1

600 m x (1) 10.00 m
E B R+ % || K= & ¥ ] =
i# % & A 1.19 CKESER) 0,110 (A/m) X 10.00 (m)= 1.10 (A
(FREEER)  0.018 (A/fH) x 5 (&)= 0.09 (A)
BRMERER " 0.88 (KEEERY 0,070 (A/m)x 10.00 (m)= 0.70 (A)
(FEEEER)  0.0368 (A/{E) X 5 () = 0.18 (A
EmiEER ” 2.58 (KEEERY 0,240 (A/m) X 10.00 (m)= 2.40 (L)
(FREEER)  0.036 (A/fE) x 5 (&)= 0.18 (A
i R FIFV-rh- H 0.89 (KESER)  0.080 (H/m)x 10.00 (m)= 0.60 (H)
WIER20tH (BEEEER)  0.018 (H/fE) X 5 (&)= 0.08 (H)
s B (M. m)
KEGERA % ¢ 7| 1600% 2400 1001 | 1 5 2650 (ke /M)  (BEHEE)
KESERB & ¢ 7 | 1600x 2400x 1001 | # 5 2700 (ke fH)  (BHEEE)
28 & 4 - | 1060% 2077 x 200 " 5 900 (kg fH) (WMEEHE)
G & (M m)
FFIL A 5.200 m | 57.20
#HEEE Bl bFL—F il b4
Doulrv—F v b
h B (M. m)
B ' e 1 < 1.0 %
—é-_'_
1m %Y
T A AN 18— & A 720008 10.00 m%4 ¥ K ffi%k
() 1.800 m x(1) 10.00 m
I B R+ & |EN|#H= & b1 =
% # A 1.19 (KB 0.110 (A/m) x 10.00 (m)= 1.10 (A
(FEEEEr)  0.018 (A/{E) x 5 (fE)= 0.09 (A
HEEER ” 0.88 (gL 0.070 (A/m)x 10.00 (m)= 0.70 (A)
(FRBEsR) 0,036 (A/fE) x b ()= 0.18 (A)
HFimfeE R ” 2.68 (KESEE) 0,240 (A/m) X 10,00 (m)= 2.40 (A)
(FEgs)  0.036 (A/{E) x 5 (fi)= 0.18 (A
PO S F77b-r iy B 0.69 (AREEER) 0,060 (H/m) x 10.00 (m)= 0.60 (H)
W20t (FREER)  0.018 (H/{#) x 5 (&)= 0.09 (H)
i 3t (H/m)
KEEERA % 4 | 1600% 24001001 | {@ 5 2650 (ke /M) (HEHS)
KELERB 4 ¢ | 1600 2400x 1001 | # 5 2700 (ke W) (HREEHES
FARR-RT 247" | 1450 2062% 200 | # 5 1350 (kg fH) (E#HS)
N B (M. m)
FFL AN 5.200 m | 57.20
HEEE AL b-FL—F il b4
Tuiry—F v b
I 2 (M./m)
wOM R e 1 < 1.0%
E_l_
1 m %Y
<HE G >

E 477 E PR TFHEZEH) LA T OHEKEENT Ry 7 20 03— MRl Ka@OEFR %3/
EL7EE LATHFRELEHY) HERED T o v 2 T P38 (ETHADMTHAE 2.6 ¢ LT}
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6)

1995
1999

3530 1998

2907 1991

1995

http:/Mmww.mlit.go.jp/river/kankyou/sakana.tebiki/pdf/hyoushi.pdf
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1999

2003
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1993
2000
2004
2001

1998

1989

2002
Vol.65 No5 1999

2003 2006
VOL.3 No2 2000

1997
2006
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> cm sec
/
6.6 120 13
47 52 49

114 178 2.3
10 100 15 21

15 160 36 6.0 48 3.2
2 25 30 200 04 52

30 150 250 30 48 39 7.6
14 70 150 250 41 6.1 51 27 137

1 12 15
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Q sec

Qw
Qw =061 ¥V g E
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2650
25.9
675
6.6

Ke]
I

<6

T
no

Fs
Fs

()

(kg/m)
(kN/m)
(kg/m)
(KN/m)

1.600

15.6

30.00
19.0

0.600
0.0
15.63

(m)

(KN/m?)

)
(KN/m?)

(kN/m?)
(kN/m?)

12 15
12 15



82

83

21
|
I
N - [
B = 2.400
31
1)
>V >H o (o))
(kN) (kN) Fs Fs (kN/m2)
3751 13.77 6.95 163 15.63 15.63
12 15 12 15
,_..! r——
L lr__..
— |
e = 0.036
1 ]
s 5
L = Z.40 J
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41

W sin(w <)
cosw @ S O

(kN/m)
(kN/m)
)
()
)

Que €=y

(<)

Pa sin & a L
Pa cos o o L

I<
n o

V H : (kN)
L : L=1.000 (m)
4.2
1)

>Vtand C B L
Fs = = Fsa
>H

Fs
Fsa
>V (kN)
>H (kN)
tand
tand 0.600
C : C = 0.0 (kN/m?
; 2400 (m)
1.000 (m)

- W
- W
I
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2)

3)

> Mr
Fs
>Mo
Fs
> Mr
> Mo
Fsa
d, B L
Jr Oz
>V
B
L

kN m)
kN m)

(KN/m?)
(kN)

B=2400 (m)

( ) L=1.000 (m)
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51
\% H Y
1.000m
— AR
1
- —
1 1
&
R&A 0
511
\Vo Y \Y X y
(M%) (KN/md) (kN) (m | (m)
2000 2590 | 1.200| 0.531
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512

16.84]

000 X

000 x<

= 1600 (m)

a = 000 ()

W = 3323 (kN/m) [

w = 5600 ()

S = 2000 (™)

@ = 3000 (=)

Pa = 33.23 x sin(56.00 - 30.00)
- c0s(56.00 - 30.00 - 20.00 - 0.00)
= 1465 (KN/m)

1

E

a 1
- —

: : 56.00°
V= 1465 > sin 20.00
H= 1465 > cos 20.00
x= 2400 (m)

1.600
y = —3 = 0.533 (m)
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kPa
1S/
10. 01
5. 0]
%4 "5 60 70 8
w(®)
w Pa W
60. 00 14. 444 28. 45
59. 00 14.534 29. 61
58. 00 14. 602 30. 80
57.00 14.637 32.00
* 56.00 14. 647 33.23
55. 00 14.636 34.50
54.00 14,597 35. 80
53. 00 14.532 37.14
52. 00 14.431 38.50
1.000 = 501 (kN)
1.000 = 13.77  (kN)

90



52
521

522

\Y; H X y V X Hy
(KN) (KN) (m) (m | (kN m) | (kN m)
25.90 1.200 | 0.531 31.08

501| 1377| 2400| 0533 12.02 7.34
6.60 1.200 | 0.900 7.92
3751 | 1377 51.02 7.34
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1)

2)

3)

SV = 3751 (KN)
SH = 13.77 (KN)
>Mr = 51.02 (KN m)
>Mo = 7.34 (KN m)
Fs = 5V p ¢ B L 37.51x0.600 0.0 x 2.400 x 1.000
B >H B 13.77
=1.63 Fsa =12 15
>Mr 51.02
Fs = 6.95 Fsa= 12 15
> Mo 7.34
Y 37.51
9= 5 L 2.400 x 1.000
15.63 kKN / m?
-
-
T -
— ‘IM.\AJ_
e = 0.036
] ™

15.63

15. 63

™~

= £.4U

fa
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¢ = 1560 KkN/m2
vyt = 1900 kN/m?
vtw = 1000 kN/m3
@ = 3000 °
c = 0.00 kN/m?
S = 200 °
yc = 2450  KN/m3
ock = 30 N/ 2
oca = 10 N/ 2
ta = 045 N/ 2
osa = 160 N/ 2
Ho = 1600
— H = 1400
[T 5 = 200
W{‘ﬁ::tl B = 2200
i 4 . 1 = 200
- = 200
NBL
15 100| OK 0.2 100| OK
0.06 045| OK 0.01 045| OK
65 160| OK 11 160 | OK
15 100| OK 1.8 100| OK
0.07 045| OK 0.07 045| OK
65 160| OK 75 160 | OK
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w = 56.0 <
= 16.404 16.836

w @
w e O
Ph = P e} = 13.768 kN
Pv = P e} = 5011 kN
Kh = Ph/(12 yt H? = 0.5661
Kv = Pv/(12 wyt H? = 0.2060
ot = 12 yt H2 Kh
= 1/2 < 19.0 < 14002 =< 0.5661 = 10.541 kN

Mt = 16 Wyt H® kh
= 1/6 > 19.0 > 1.400°2 >< 0.5661

4919 kN m

BL BL

WR = (2 1 H wyec 2 Pv ) /B
= ( 2> 0200 > 1400 > 2450 2 >x5011) / 2200
= 10.792 kN m

Stz = WR BL/2

= 10.792> 2200 >< 1/2 11871 kN

Mtz = Msor

4919 kN m
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Sta = WR2 BL 2 X
10.792 /2> 2.200 2 > 1100
0.000 kN

Mso1 1/8 WR B2
4919 1/8 > 10.792 > 22002
= 1.610 kKN m

Mo

Ssu = 12 H> Wo vyt Kh
= 12 > 14002 x= 90 190 = 0.5661
= —1721 kN

Msiu = 16 H Wo wyt Kh

= 16 > 14003 x 9.0 190 > 0.5661
= —0.803 kN

St = Sto2 = 11.871 kN

Mrie = Msu = —0.803 kN

Stu = 0.000 kN

Mru = Mrie +1/8 WR B2

= —0.803+1/8 > 10.792 > 22002
5726 kN m
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kN M kN m S kN M kN m
10.541 4919 1721 0.803
11.871 4919 11.871 0.803

0.000 1.610 0.000 5.726
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|d=16.4
1=20.0

100 om

D13 = 1267 < 4 = 5068 cm2
As/ = 5068 / 1000 < 164
0.0031

v 2 n P+ n P2 n P
v/ 2x15x> 0.0031 + 15 > 0.0031 2 15 > 0.0031

0.262
1 k3 = 1 0262 / 3
0.913
< =}

100 cm
D13 = 1267 < 4 = 5068 cm2
As/ = 5068 / 1000 >=< 164
0.0031

v 2 n P+ n P 2 n P

Vv 2x15> 0.0031+ 15 > 0.0031 2 15 > 0.0031
0.262

1 ki3 =1 0262 / 3

0.913

E-46



OocC

2 < M 2 < 4919 > 106
k < j>b > d2 0.262 > 0.913 > 1000 > 1642
15 N/ 2 oca= 10 N/ 2 OK
L
10541 =< 103
b > d 1000 >< 164
006 N/ 2 ta = 045 N/ ? OK
os
M 4919 =< 106
p ><j>b>xd2 0.0031 > 0.913 > 1000 > 1642
65 N/ 2 osa= 160 N/ 2 OK
oc
2 < M 2 >< 4919 > 106
k ><j>xb>xd?2 0.262 > 0.913 > 1000 > 1642
15 N/ 2 oca= 10 N/ 2 OK
T
11.871 > 103
b >=<d 1000 =< 164
007 N/ 2 ta = 045 N/ 2 OK
os
M 4919 =< 106
p>x<j>xbxd?2 0.0031 > 0913 > 1000 > 1642
65 N/ 2 osa= 160 N/ 2 OK
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|d=16.4
1=20.0

100 om

D13 = 1267 < 4 = 5068 cm2

As/ b d = 5068 / 1000 =< 164

0.0031

v 2 n P+ n P 2 n P

Vv 215> 0.0031 + 15 > 0.0031 2 15 > 0.0031

0.262
1 k3 =1 0262 / 3
0.913
100 om
D13 = 1267 < 4 = 5068 cm?

As/ b d = 5068 / 100.0 > 164

0.0031

v 2 n P+ n P 2 n P

Vv 2x15> 0.0031+ 15 > 0.0031 2 15 > 0.0031
0.262

1 ki3 =1 0262 / 3

0.913
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OocC

2 < M 2 >< 0.803 =< 10¢
k < j>b > d2 0.262 > 0.913 > 1000 > 1642
0.2 N/ 2 oca= 10 N/ 2 OK
.y
1721 >< 1038
b><d 1000 =< 164
001 N/ 2 ta = 045 N/ ? OK
os
M 0.803 =< 10°
p ><j>b>xd2 0.0031 > 0.913 > 1000 > 1642
11 N/ 2 o sa= 160 N/ 2 OK
ocC
2 < M 2 > 5726 >< 106
k ><j>xb>xd?2 0.262 > 0.913 > 1000 > 1642
18 N/ 2 oca= 10 N/ 2 OK
e
11.871 >< 1038
b ><d 1000 =< 164
007 N/ 2 ta = 045 N/ 2 OK
os
M 5.726 =< 106
p><j>bx>xd2 0.0031 > 0.913 > 1000 > 1642
75 N/ 2 osa= 160 N/ 2 OK
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